Matematuka 6 xjac 27.03.20r.

3a4.1. Koe oT paBeHcTBaTa e BApHO? (1 T)
()54.52=58  ()54.52=56 ()54, 52=52 () 5%.52=10°
3a4.2. Koe oT paBeHcTBaTa e BApHO? (1 T)

36 36

037:34 037:38 03_2=14 03_2=33
3a4.3. Koe oT paBeHcTBaTa e BApHO? (1 T)

76 (7\1? 76 (7\® 76 7 76 7
0%=() 0%=() &6 O%=63

3a4.4. Koe e BapHoTO paBeHcTBO? (1 T)
O4°)? = 410 O4*)? =43 O@*)?2=4 (O(4°)*=2.5.4
334.5. C6opbT 5.10%+7.10°+5.10 + 1 e paseH Ha: (1 7)

(57051 (50751 (57501 (57051

9
3a4.6. Mpeacrasete Kato cteneH: (1 1) 2=

x12\%
3a4.7. OnpocreTe u3pasa: (4o 2 7) (F) =

. 57_(58)2 _
3a4.8. MpecmeTHeTe: (80 4 71) 20 -
. 21.27.14%
3a4.9. MpecmetHerte: (8o 4 7) 5 g4 35 o
21° — 218

3a4.10. NpecmeTHeTe: (40 6 T)



